The Moments of the M/M/s Queue Length Process

F. MARCELLÁN Pacomarc@ing.uc3m.es Departamento de Matemáticas, Universidad Carlos III de Madrid, Avda. de la Universidad 30, 28911, Leganes, Madrid, Spain

G. PÉREZ

gperez@euitt.upm.es Departamento de Matemática Aplicada a la Telecomunicación, Escuela Universitaria de Ingeniería Técnica de Telecomunicación, Carretera de Valencia 7, 28031, Madrid, Spain

Abstract. A representation for the moments of the number of customers in a M/M/s queueing system is deduced from the Karlin and McGregor representation for the transition probabilities. This representation allows us to study the limit behavior of the moments as time tends to infinity. We study some consequences of the representation for the mean.

Keywords: M/M/s queue, moments, limit behavior, orthogonal polynomials, transient behavior AMS subject classification: 60K25, 68J80, 42C05

1. Introduction

It is easy to calculate the moments of the steady-state distribution of the number of customers in an M/M/s queueing system. However, in some occasions, it is hardly realistic to assume that the system has reached the steady state situation, and representations will be needed in order to compute these moments at time t. For the first two moments several representations are known in the case of one server, see, for instance, [2,3], or [16], but little is known for the general case.

When the traffic intensity $\rho = \lambda/s\mu$, is greater than or equal to 1, the steadystate distribution does not exist and we will be interested in the limit behaviour of the moments, especially of the mean and of the variance. This behaviour is known for the first two moments in the case of one server, see [5,13], but it is unknown when there is more than one server, or for moments greater than second order.

In this paper we will obtain a representation for the moments of the M/M/s queue length process, from the spectral representation for the transition probabilities. To this end, we will extend the representation given in [2] for the first two moments when we consider one server and $\rho < 1$.

From the representation obtained, we will deduce the limit behaviour of the moments. When $\rho > 1$ this behaviour will be related to the birth and death process on all the integers without barriers, of constant rates $\lambda_n = \lambda$ and $\mu_n = s\mu$. When $\rho = 1$ we will only study the limit behaviour of the mean and the variance.

The mean has a simple representation. From this representation we will deduce a representation in terms of the distribution function, some bounds, and the distance of the mean to its asymptote in the $L^1(\mathbb{R}^+)$ norm. Representations for the mean of the number of customers in the queue and of busy servers are given.

This paper is organized as follows. In section 2 we will deal with the Karlin–McGregor representation for the transition probabilities of a birth and death process, especially of the M/M/s queue length process. In section 3 we will obtain a representation for the moments of the M/M/s queue length process. In section 4 we will study the limit behaviour of these moments. In section 5 we will particularize for the cases M/M/1 and M/M/2. Finally, we will deal with the mean in section 6.

2. Preliminaries

Let X(t) be a birth and death process on the state space $\{0, 1, \ldots\}$, with birth rates $\{\lambda_n, n \ge 0\}$ and death rates $\{\mu_n, n \ge 0\}$, all strictly positive, except for μ_0 which may be equal to 0.

The transition probabilities $P_{ij}(t) = P(X(t) = j | X(0) = i)$ satisfy the backward equations

$$P'_{ij}(t) = \mu_i P_{i-1j}(t) - (\lambda_i + \mu_i) P_{ij}(t) + \lambda_i P_{i+1j}(t), \quad i \ge 1, \ j \ge 0,$$

$$P'_{0j}(t) = -(\lambda_0 + \mu_0) P_{0j}(t) + \lambda_0 P_{1j}(t), \qquad j \ge 0.$$
(1)

The potential coefficients are

$$\pi_n = rac{\lambda_0 \lambda_1 \cdots \lambda_{n-1}}{\mu_1 \mu_2 \cdots \mu_n}, \quad n \geqslant 1, \quad \pi_0 = 1.$$

If the rates satisfy the condition

$$\sum_{n=0}^{\infty} \frac{1}{\lambda_n \pi_n} \sum_{i=0}^n \pi_i = \infty,$$
(2)

then the transition probabilities satisfy also the forward equations

$$P'_{ij}(t) = \lambda_{j-1}P_{ij-1}(t) - (\lambda_j + \mu_j)P_{ij}(t) + \mu_{j+1}P_{ij+1}(t), \quad j \ge 1, \ i \ge 0,$$

$$P'_{i0}(t) = -(\lambda_0 + \mu_0)P_{i0}(t) + \mu_1P_{i1}(t), \qquad i \ge 0.$$
(3)

The birth–death polynomials $\{Q_n(x)\}\$ are a sequence of polynomials defined by the recurrence relations

$$-xQ_{n}(x) = \mu_{n}Q_{n-1}(x) - (\lambda_{n} + \mu_{n})Q_{n}(x) + \lambda_{n}Q_{n+1}(x), \quad n \ge 0,$$

$$Q_{0}(x) = 1, \qquad Q_{-1}(x) = 0.$$
(4)

Karlin and McGregor [9] proved that if a birth and death process satisfies the condition (2) then its transition probabilities can be represented as

$$P_{ij}(t) = \pi_j \int_0^\infty Q_i(x) Q_j(x) \mathrm{e}^{-xt} \,\mathrm{d}\psi(x), \quad i \ge 0, \ j \ge 0, \ t \ge 0,$$
(5)

where $\psi(x)$ is a nondecreasing, left-continuous function, with $\lim_{x\to\infty} \psi(x) = 1$, and $\psi(x) = 0$ for $x \leq 0$, such that

$$\pi_j \int_0^\infty Q_i(x) Q_j(x) \,\mathrm{d}\psi(x) = \delta_{ij}.$$
(6)

When $\mu_0 = 0$ the dual polynomials of $\{Q_n(x)\}$ are defined by

$$-x Q_n^*(x) = \lambda_n Q_{n-1}^*(x) - (\mu_{n+1} + \lambda_n) Q_n^*(x) + \mu_{n+1} Q_{n+1}^*(x), \quad n \ge 0,$$

$$Q_0^*(x) = 1, \qquad Q_{-1}^*(x) = 0.$$
(7)

In the determination of $\psi(x)$ one frequently encounters the so-called associated polynomials of the first kind (see [4]), defined by

$$-x Q_n^{(0)}(x) = \mu_n Q_{n-1}^{(0)}(x) - (\lambda_n + \mu_n) Q_n^{(0)}(x) + \lambda_n Q_{n+1}^{(0)}(x), \quad n \ge 1,$$
$$Q_0^{(0)}(x) = 0, \qquad Q_1^{(0)}(x) = -\frac{1}{\lambda_0}.$$

The number of customers in a M/M/s queueing system is a birth and death process with rates

$$\lambda_n = \lambda, \quad n \ge 0, \qquad \mu_n = \begin{cases} n\mu, & n \le s - 1, \\ s\mu, & n \ge s. \end{cases}$$
(8)

In the following, we will suppose these values of the rates. Condition (2) is satisfied. The potential coefficients are

$$\pi_n = \begin{cases} \frac{\rho^n s^n}{n!}, & n \leqslant s - 1, \\ \frac{\rho^n s^s}{s!}, & n \geqslant s, \end{cases} \quad \text{where } \rho = \frac{\lambda}{s\mu}.$$

X(t) is ergodic if and only if $\rho < 1$. In this case the steady-state distribution is

$$p_0 = \left(\sum_{n=0}^{\infty} \pi_n\right)^{-1} = \left(\sum_{n=0}^{s-1} \frac{(\lambda/\mu)^n}{n!} + \frac{(\lambda/\mu)^s}{s!(1-\rho)}\right)^{-1}, \qquad p_n = \pi_n p_0, \quad n \ge 0.$$
(9)

Karlin and McGregor [11] gave a representation for the polynomials $Q_n(x)$ and they determined the function $\psi(x)$ in the representation (5), for these values of the rates. Afterwards, they applied the resulting representation to the study of the characteristics of a M/M/s queue; length of the busy period, number of customers served during a busy period, etc. Van Doorn [17] studied in detail the function $\psi(x)$ and applied the representation to the study of the stochastic monotonicity and of the exponential ergodicity of the M/M/s queue length process.

The birth and death polynomials can be represented as (see [11])

$$Q_n(x) = c_n\left(\frac{x}{\mu}, \frac{\lambda}{\mu}\right), \quad 0 \le n \le s,$$

$$Q_{s+n}(x) = \left(\frac{1}{\sqrt{\rho}}\right)^n \left(Q_s(x)U_n\left(\alpha(x)\sqrt{\rho}\right) - \frac{1}{\sqrt{\rho}}Q_{s-1}(x)U_{n-1}\left(\alpha(x)\sqrt{\rho}\right)\right), \quad n \ge 1,$$
(10)

where

$$\alpha(x) = \frac{1}{2} \left(1 - \frac{x}{\lambda} + \frac{1}{\rho} \right),$$

 $c_n(x, a)$ are the Poisson–Charlier polynomials, defined by the recurrence relations

$$-xc_n(x, a) = nc_{n-1}(x, a) - (n+a)c_n(x, a) + ac_{n+1}(x, a), \quad n \ge 0,$$

$$c_0(x, a) = 1, \qquad c_{-1}(x, a) = 0,$$

and $U_n(x)$ are the Chebyshev polynomials of the second kind, defined by the recurrence relations

$$2xU_n(x) = U_{n-1}(x) + U_{n+1}(x), \quad n \ge 0,$$

$$U_0(x) = 1, \qquad U_{-1}(x) = 0.$$

In [4] or [8] the reader can find the explicit expression of the Poisson–Charlier and of the Chebyshev polynomials, i.e.

$$c_n(x,a) = \sum_{r=0}^n (-1)^r \binom{n}{r} \binom{x}{r} \frac{r!}{a^r},$$

$$U_n(\cos\theta) = \frac{\sin(n+1)\theta}{\sin\theta}.$$
(11)

The function $\psi(x)$ satisfies (see [17])

(i)

$$\psi'(x) = \frac{\sqrt{\rho - \rho^2 \alpha^2(x)}}{\pi \lambda \pi_s(Q_s^2(x) - Q_{s-1}(x)Q_{s+1}(x))}, \quad \lambda \left(1 - \frac{1}{\sqrt{\rho}}\right)^2 \leqslant x \leqslant \lambda \left(1 + \frac{1}{\sqrt{\rho}}\right)^2.$$
(12)

(ii) If $x \neq \lambda (1 - 1/\sqrt{\rho})^2$ is a zero of $D(z) = C(z)Q_{s-1}(z) - Q_s(z)$, where C(z) is the principal value of $\alpha(z) - \sqrt{\alpha^2(z) - 1/\rho}$, then $\psi(x)$ has a jump in x of magnitude

$$\Delta \psi(x) = \frac{C(x)Q_{s-1}^{(0)}(x) - Q_s^{(0)}(x)}{D'(x)} > 0.$$

Except in these points, and outside the interval $(\lambda(1 - 1/\sqrt{\rho})^2, \lambda(1 + 1/\sqrt{\rho})^2)$, we have $\psi'(x) = 0$.

- (iii) If $\rho \ge 1$ then $\psi(x)$ is continuous.
- (iv) Is $\rho < 1$ then $\psi(x)$ has *i* jumps where *i* is one of the integers 1, 2, ..., s 1. All these jumps lie on the interval $[0, \lambda(1 1/\sqrt{\rho})^2)$, and one jump always occurs at x = 0.

In this paper, using the representation (5), we will study the moments of the M/M/s queue length process, especially the mean and the variance

$$m_i(t) = E[X(t) | X(0) = i], \qquad V_i(t) = E[(X(t) - m_i(t))^2 | X(0) = i].$$

We always assume the value (8) for the rates, but some of the obtained results are valid, or can easily be generalized to birth–death processes in general, if the rates are constant from some state n onwards.

First, we obtain a representation for the factorial moments

$$M_k^{(i)}(t) = E[X(t)(X(t) - 1) \cdots (X(t) - k + 1) | X(0) = i].$$

When $\rho < 1$, let *m*, *V*, and M_k denote respectively the mean, the variance and the factorial moment of order *k*, of the steady-state distribution. Let denote $a_{(k)} = a(a-1)\cdots(a-k+1)$, $a_{(0)} = 1$. For s = 1 by convention $\sum_{n=0}^{s-2} = 0$. In order to simplify the notation we introduce the functions

$$\eta_{k,n}(x) = \left[\frac{\mathrm{d}^{k-1}}{\mathrm{d}z^{k-1}} \frac{\lambda z^{n+1} Q_{n-1}^*(x) - s\mu z^n Q_n^*(x)}{\lambda z^2 + (x - \lambda - s\mu)z + s\mu}\right]_{z=1},\tag{13}$$

$$\Phi_{k,n}(x) = x^k \left(n_{(k)} Q_{n-1}^*(x) - k \eta_{k,n}(x) \right), \quad x \neq 0.$$
(14)

In an appendix we will summarize some equalities for the polynomials $Q_n(x)$, and for their duals $Q_n^*(x)$, which can be deduced from their recurrence relations, (4) and (7).

3. Representation of the factorial moments

From the next lemma, the existence and differentiability of the moments $M_k^{(i)}(t)$, for every $t \ge 0$, follows. This lemma is also valid for birth–death processes with constant birth rates.

Lemma 1. For each A > 0 and every $d = 0, 1, \ldots$

$$\sum_{j=0}^{\infty} A^{j} P_{ij}^{(d)}(t)$$
 converges uniformly on every finite interval $0 \le t \le T$

Proof. Let A > 0 and T > 0. It is known that $Q_j(x)$ has j positive zeros, x_1, \ldots, x_j (see [4]). Then $Q_j(-\lambda A) = \lambda^{-j}(\lambda A + x_1)(\lambda A + x_2)\cdots(\lambda A + x_j) > A^j$. From

[9, theorem 6], we get that $\sum_{j=0}^{\infty} Q_j(-\lambda A) P_{ij}(t)$ converges uniformly on $0 \leq t \leq T$, and then

$$\sum_{j=0}^{\infty} A^j P_{ij}(t) \text{ converges uniformly on } 0 \leq t \leq T.$$

From the backward equations (1), and using an induction the lemma follows.

Now we can deduce the main result.

Theorem 1. If $\rho \neq 1$ then

$$M_k^{(i)}(t) = h_{k,i}(t) + \int_a^b Q_i(x) \frac{q_k(x)}{x^k} e^{-xt} \, \mathrm{d}\psi(x), \quad i \ge 0, \ t \ge 0,$$
(15)

where

(i) *a* is the first nonzero point in the support of ψ and $b = \lambda (1 + 1/\sqrt{\rho})^2$ the last one.

(ii) $q_k(x)$ is a polynomial of degree less than or equal to s + k - 2 and is given by

$$q_k(x) = kx^k \left(\eta_{k,s-1}(x) - \sum_{j=0}^{s-2} j_{(k-1)} Q_j^*(x) \right).$$
(16)

- (iii) If $\rho < 1$ then $h_{k,i}(t) = M_k$.
- (iv) If $\rho > 1$ then $h_{k,i}(t)$ is a polynomial

$$h_{k,i}(t) = (\lambda - s\mu)^k t^k + \frac{\gamma_{k,k-1}(i)}{(k-1)!} t^{k-1} + \dots + \frac{\gamma_{k,2}(i)}{2!} t^2 + \gamma_{k,1}(i)t + \gamma_{k,0}(i),$$

where

$$\gamma_{k,0}(i) = i_{(k)} - \int_0^\infty Q_i(x) \frac{q_k(x)}{x^k} \,\mathrm{d}\psi(x), \quad i \ge 0,$$
(17)

and $\gamma_{k,n}(i)$ for $n \ge 1$ are given by the recurrence relations

$$\begin{aligned} \gamma_{k,n}(i) &= \mu_i \gamma_{k,n-1}(i-1) - (\lambda + \mu_i) \gamma_{k,n-1}(i) + \lambda \gamma_{k,n-1}(i+1), \quad i \ge 1, \\ \gamma_{k,n}(0) &= -\lambda \gamma_{k,n-1}(0) + \lambda \gamma_{k,n-1}(1), \quad n = 1, \dots, k-1. \end{aligned}$$

Moreover, for every $\rho > 0$

$$\frac{\mathrm{d}^k}{\mathrm{d}t^k} M_k^{(i)}(t) = (\lambda - s\mu)^k k! + \int_0^\infty Q_i(x) (-1)^k \mathrm{e}^{-xt} q_k(x) \,\mathrm{d}\psi(x), \quad i \ge 0, \ t \ge 0.$$
(18)

Proof. Using the Karlin and McGregor representation (5) and (A.11) we obtain

$$\sum_{j=0}^{N} j_{(k)} P_{ij}^{(k+1)}(t) = \sum_{j=0}^{N} j_{(k)} \pi_j \int_0^\infty Q_i(x) Q_j(x) (-x)^{k+1} \mathrm{e}^{-xt} \,\mathrm{d}\psi(x)$$

$$= \int_0^\infty Q_i(x)(-x)^{k+1} e^{-xt} \sum_{j=0}^N j_{(k)}\pi_j Q_j(x) d\psi(x)$$

=
$$\int_0^\infty Q_i(x)(-1)^{k+1} x e^{-xt} \left(x^k \sum_{j=0}^{s-2} j_{(k)}\pi_j Q_j(x) - \Phi_{k,s-1}(x) + \Phi_{k,N+1}(x) \right) d\psi(x).$$

Let $q_k(x) = x^k \sum_{j=0}^{s-2} j_{(k)} \pi_j Q_j(x) - \Phi_{k,s-1}(x)$. Notice, in the expression (A.12) for $\Phi_{k,n}(x)$, that $q_k(x)$ is a polynomial of degree less than or equal to s + k - 2. From (14) and (A.9) we obtain $q_k(x) = kx^k (\eta_{k,s-1}(x) - \sum_{j=0}^{s-2} j_{(k-1)} Q_j^*(x))$. Using $q_k(x)$, the above equality can be written as

$$\sum_{j=0}^{N} j_{(k)} P_{ij}^{(k+1)}(t) = \int_{0}^{\infty} Q_{i}(x) (-1)^{k+1} x \, \mathrm{e}^{-xt} \big(q_{k}(x) + \Phi_{k,N+1}(x) \big) \, \mathrm{d}\psi(x).$$
(19)

On the other hand, from (A.2) and (5), for every d = 0, 1, ...

$$\int_0^\infty x Q_i(x) x^d Q_N^*(x) e^{-xt} d\psi(x) = \int_0^\infty \lambda \pi_N x^d Q_i(x) (Q_N(x) - Q_{N+1}(x)) e^{-xt} d\psi(x)$$
$$= (-1)^d (\lambda P_{iN}^{(d)}(t) - \mu_{N+1} P_{iN+1}^{(d)}(t)).$$

From lemma 1 we get that $\lim_{N\to\infty} A^N P_{iN}^{(d)}(t) = 0, A > 0, d = 0, 1, \dots$ Hence

$$\lim_{N \to \infty} A^N \int_0^\infty x Q_i(x) x^d Q_N^*(x) e^{-xt} d\psi(x) = 0, \quad A > 0, \ d = 0, 1, \dots$$

From this limit and the expression (A.12) for $\Phi_{k,n}(x)$, we get

$$\lim_{N \to \infty} \int_0^\infty x Q_i(x) \Phi_{k,N}(x) e^{-xt} d\psi(x) = 0, \quad i \ge 0, \ t \ge 0.$$

Hence from (19) we obtain

$$\sum_{j=0}^{\infty} j_{(k)} P_{ij}^{(k+1)}(t) = \int_0^{\infty} Q_i(x) (-1)^{(k+1)} x \, \mathrm{e}^{-xt} q_k(x) \, \mathrm{d}\psi(x).$$
(20)

This representation for the k + 1 derivative of the factorial moment of order k is valid for every $\rho > 0$. If $\rho \neq 1$ there is a first nonzero point in the support of ψ . In this case, let a the first nonzero point in the support of ψ and b the last one. Then

$$\sum_{j=0}^{\infty} j_{(k)} P_{ij}^{(k+1)}(t) = \int_{a}^{b} Q_{i}(x) (-1)^{(k+1)} x \, \mathrm{e}^{-xt} q_{k}(x) \, \mathrm{d}\psi(x).$$

If $\rho \neq 1$, using lemma 1 and integrating k + 1 times we get

$$M_k^{(i)}(t) = \sum_{n=0}^k \frac{\gamma_{k,n}(i)}{n!} t^n + \int_a^b Q_i(x) \frac{q_k(x)}{x^k} e^{-xt} d\psi(x),$$
(21)

where

$$\gamma_{k,n}(i) = \sum_{j=0}^{\infty} j_{(k)} P_{ij}^{(n)}(0) - \int_{a}^{b} Q_{i}(x) (-1)^{n} \frac{q_{k}(x)}{x^{k-n}} \,\mathrm{d}\psi(x), \quad n = 0, 1, \dots, k.$$
(22)

Let $\rho < 1$. From (5) and (9) it follows that $P_{ij}(t) = \pi_i^{-1} \pi_j P_{ji}(t) \leq \pi_i^{-1} p_j \times \sum_{l=0}^{\infty} \pi_l$. So for N > 0

$$\left|\sum_{j=0}^{\infty} P_{ij}(t) j_{(k)} - \sum_{j=0}^{\infty} p_j j_{(k)}\right| \leqslant \sum_{j=0}^{N} \left|P_{ij}(t) - p_j\right| j_{(k)} + \left(1 + \frac{\sum_{l=0}^{\infty} \pi_l}{\pi_i}\right) \sum_{j=N}^{\infty} j_{(k)} p_j.$$

It follows that $\lim_{t\to\infty} M_k^{(i)}(t) = M_k$, $i \ge 0$. Hence from (21) we obtain $\gamma_{k,k}(i) = \gamma_{k,k-1}(i) = \cdots = \gamma_{k,1}(i) = 0$, $\gamma_{k,0}(i) = M_k$, $i \ge 0$. This proves (iii).

Let now $\rho > 1$. Using the Karlin and McGregor representation (5), the orthogonality property (6), and (A.11) we obtain that for $N > \max\{i + n, s\}$

$$\sum_{j=0}^{\infty} j_{(k)} P_{ij}^{(n)}(0) = \sum_{j=0}^{\infty} j_{(k)} \pi_j \int_a^b Q_i(x) Q_j(x) (-x)^n \, \mathrm{d}\psi(x)$$
$$= \sum_{j=0}^{N-1} j_{(k)} \pi_j \int_a^b Q_i(x) Q_j(x) (-x)^n \, \mathrm{d}\psi(x)$$
$$= \int_a^b Q_i(x) (-x)^n \left(\frac{q_k(x)}{x^k} + \frac{\Phi_{k,N}(x)}{x^k}\right) \, \mathrm{d}\psi(x).$$
(23)

Then from (22) we have

$$\gamma_{k,n}(i) = \int_{a}^{b} Q_{i}(x)(-x)^{n} \frac{\Phi_{k,N}(x)}{x^{k}} d\psi(x), \quad N > \max\{i+n,s\}.$$
(24)

From (A.2) and the orthogonality property (6), we have $\int_a^b xx^l Q_N^*(x) d\psi(x) = 0, l \ge 0$, N > l. Using this equality, (A.3), (6), (A.12), and for N large enough, we obtain

$$\gamma_{k,k}(i) = \int_{a}^{b} Q_{i}(x)(-1)^{k} \Phi_{k,N}(x) \, \mathrm{d}\psi(x)$$

=
$$\int_{a}^{b} Q_{i}(x)(\lambda - s\mu)^{k-1} k! (\lambda Q_{N-1}^{*}(x) - s\mu Q_{N}^{*}(x)) \, \mathrm{d}\psi(x)$$

=
$$(\lambda - s\mu)^{k} k!.$$
 (25)

Using (24) and the recurrence relations for $\{Q_n(x)\}\)$, we obtain that $\{\gamma_{k,n}(i)\}\)$ satisfies the recurrence relations given in (iv). Taking n = 0 in (22) we obtain the representation of $\gamma_{k,0}(i)$ given in (iv).

It remains to prove (18) for every $\rho > 0$. Integrating both sides of the equality (20), we get that for some constant $\gamma(i)$

$$\sum_{j=0}^{\infty} j_{(k)} P_{ij}^{(k)}(t) = \gamma(i) + \int_0^{\infty} Q_i(x) (-1)^k e^{-xt} q_k(x) d\psi(x).$$

In the same way as we obtained (24), we obtain $\gamma(i) = \int_0^\infty Q_i(x)(-1)^k \Phi_{k,N}(x) d\psi(x)$, for *N* large enough, and in an analog way as in (25), we get $\gamma(i) = (\lambda - s\mu)^k k!$. This completes the proof.

Remark. $\gamma_{k,0}(i)$ may be calculated from (17), using the equalities (see [10, appendix A])

$$\int_{0}^{\infty} \frac{Q_{i}(x)Q_{j}(x)}{x} d\psi(x) = \int_{0}^{\infty} \frac{Q_{i}(x)}{x} d\psi(x) = \frac{1}{\lambda} \sum_{n=i}^{\infty} \frac{1}{\pi_{n}}, \quad i \ge j, \ \rho \ge 1,$$

$$\int_{0}^{\infty} \frac{Q_{i}(x)}{x^{r}} d\psi(x) = \frac{1}{\lambda} \sum_{n=i}^{\infty} \frac{1}{\pi_{n}} \sum_{l=0}^{n} \pi_{l} \int_{0}^{\infty} \frac{Q_{l}(x)}{x^{r-1}} d\psi(x), \qquad \rho \ge 1.$$
(26)

In section 5 the polynomials $q_k(x)$ and $h_{k,i}(t)$ are given explicitly for some values of the number of servers *s* and of the order of the moment *k*.

The representation given in (15) extends the representations given in [2] for the first two moments of the M/M/1 queue length process in the ergodic case.

Integrating (18), we can get representations for the moments. For example, for $\rho \ge 1$.

$$m_i(t) = (\lambda - s\mu)t + i + \int_0^\infty Q_i(x)q_1(x)\frac{e^{-xt} - 1}{x} \,\mathrm{d}\psi(x). \tag{27}$$

From (16) we have

$$q_1(x) = \lambda Q_{s-2}^*(x) - s\mu Q_{s-1}^*(x) - x \sum_{j=0}^{s-2} Q_j^*(x).$$
(28)

From (A.6) and (A.7) we get

$$q_1(x) = -\mu \sum_{j=0}^{s-1} Q_j^*(x) = \mu \frac{s \mu Q_s^*(x) - \lambda Q_{s-1}^*(x)}{x - \mu}.$$
 (29)

4. Limit behaviour

From theorem 1, we deduce that in the ergodic case ($\rho < 1$) the difference between the factorial moment and the factorial moment of the steady-state distribution decreases exponentially

$$M_k^{(i)}(t) = M_k + O(e^{-at}), \quad t \to \infty, \ i \ge 0,$$

where *a* is the first nonzero point in the support of $\psi(x)$, called the decay parameter (see [17]). If $\Delta \psi(a) = 0$ it could be written $o(e^{-at})$ instead of $O(e^{-at})$.

Now we will deal with the limit behaviour in the transient case ($\rho > 1$) as well as in the null recurrent case ($\rho = 1$).

4.1. Case $\rho > 1$

In this case, from theorem 1, we get for $t \to \infty$

$$M_k^{(i)}(t) = (\lambda - s\mu)^k t^k + \frac{\gamma_{k,k-1}(i)}{(k-1)!} t^{k-1} + \dots + \gamma_{k,1}(i)t + \gamma_{k,0}(i) + o(e^{-at}).$$

In particular, the mean becomes

$$m_i(t) = (\lambda - s\mu)t + \gamma_{1,0}(i) + o(e^{-at}), \quad i \ge 0.$$
(30)

For the variance we have

$$V_{i}(t) = M_{2}^{(i)}(t) + m_{i}(t) - m_{i}(t)^{2} = h_{2,i}(t) + h_{1,i}(t) - h_{1,i}^{2}(t) + o(te^{-at})$$

= $[\gamma_{2,1}(i) + (\lambda - s\mu)(1 - 2\gamma_{1,0}(i))]t + \gamma_{2,0}(i) + \gamma_{1,0}(i) - \gamma_{1,0}^{2}(i) + o(te^{-at}).$

Using (24), (A.12), (A.3), and (6), we obtain that for N large enough

$$\begin{split} \gamma_{2,1}(i) &- 2(\lambda - s\mu)\gamma_{1,0}(i) = -\int_a^b Q_i(x) \bigg(\frac{\Phi_{2,N}(x)}{x} + 2(\lambda - s\mu)\frac{\Phi_{1,N}(x)}{x}\bigg) \,\mathrm{d}\psi(x) \\ &= \int_a^b Q_i(x)(2\mu Ns - xN_{(2)})Q_{N-1}^*(x) + 2s\mu(1 - N)Q_N^*(x) \,\mathrm{d}\psi(x) = 2s\mu. \end{split}$$

Therefore, when $t \to \infty$

$$V_i(t) = (\lambda + s\mu)t + v_i + o(te^{-at}), \quad i \ge 0,$$
(31)

where $v_i = \gamma_{2,0}(i) + \gamma_{1,0}(i) - \gamma_{1,0}^2(i)$.

When $\rho > 1$ and $t \to \infty$, the number of customers in the queue tends to increase. So, if in some specific moment there is a large number *i* of customers in the queue, the probability of the queue emptying, from that moment, is rather small. Therefore, *t* units of time after that, the number of customers will have approximately the same distribution as $Y_i(t) = i + A_t - S_t$, where A_t and S_t are independent random variables, with Poisson distribution of mean λt and $s\mu t$, respectively. In fact, using [10, theorem 10] it would be easy to prove $|P_{ij}(t) - P(Y_i(t) = j)| \leq 2/\rho^{i-s+1}$, i > s. Note that the mean of $Y_i(t)$ is $(\lambda - s\mu)t + i$ and the variance is $(\lambda + s\mu)t$ (for more information about $Y_i(t)$ see [6]). This partially explains the limit behavior obtained for the mean and variance when $\rho > 1$. The following theorem gives more precise information about the relation between the moments of X(t) and the moments of $Y_i(t)$.

Theorem 2. Let $\rho > 1$. If $i \to \infty$ and $t \to \infty$ then

(i)
$$M_k^{(i)}(t) = E[Y_i(t)_{(k)}] + o\left(\frac{1}{\rho^{i/2}}\right)t^{k-1} + \dots + o\left(\frac{1}{\rho^{i/2}}\right)t + o\left(\frac{1}{\rho^{i/2}}\right) + R_1(t,i),$$

(ii)
$$V_i(t) = (\lambda + s\mu)t + o\left(\frac{1}{\rho^{i/2}}\right) + tR_2(t, i)$$

where $R_j(t, i) = o(1/\rho^{i/2})$ and $R_j(t, i) = o(e^{-at}), j = 1, 2.$

Proof. If f(x) is a continuous function on [a, b], then $c_i = \pi_i^{1/2} \int_a^b Q_i(x) f(x) d\psi(x)$ are the Fourier coefficients of f(x) relative to the orthonormal system $\{\pi_i^{1/2}Q_i(x)\}$, and then $\lim_{i\to\infty} c_i = 0$. Since $\pi_i = \rho^i s^s / s!$, $i \ge s$, we have $\int_a^b Q_i(x) f(x) d\psi(x) = o(1/\rho^{i/2})$.

Consequently, from (22)

$$\gamma_{k,n}(i) = \sum_{j=0}^{\infty} j_{(k)} P_{ij}^{(n)}(0) - \int_{a}^{b} Q_{i}(x) (-1)^{n} \frac{q_{k}(x)}{x^{k-n}} \,\mathrm{d}\psi(x) = \sum_{j=0}^{\infty} j_{(k)} P_{ij}^{(n)}(0) + \mathrm{o}\left(\frac{1}{\rho^{i/2}}\right)$$
(32)

and

$$\int_{a}^{b} Q_{i}(x) \frac{q_{k}(x)}{x^{k}} e^{-xt} d\psi(x) = o\left(\frac{1}{\rho^{i/2}}\right).$$
(33)

Let $d_{k,n} = \sum_{j=0}^{\infty} j_{(k)} P_{ij}^{(n)}(0)$. From the backward equations it follows that

$$d_{k,n}(i) = s\mu d_{k,n-1}(i-1) - (\lambda + s\mu)d_{k,n-1}(i) + \lambda d_{k,n-1}(i+1), \quad i \ge s,$$

$$d_{k,0}(i) = i_{(k)}.$$
(34)

On the other hand, the factorial moment of $Y_i(t)$

$$E[Y_i(t)_{(k)}] = \left(\frac{\mathrm{d}^k}{\mathrm{d}z^k}E[z^{Y_i(t)}]\right)_{z=1} = \left(\frac{\mathrm{d}^k}{\mathrm{d}z^k}z^i\,\mathrm{e}^{t\lambda(z-1)+s\mu t(1/z-1)}\right)_{z=1},$$

is a polynomial of degree k. If we denote

$$E[Y_i(t)_{(k)}] = \frac{\beta_{k,k}(i)}{k!}t^k + \frac{\beta_{k,k-1}(i)}{(k-1)!}t^{k-1} + \dots + \beta_{k,0}(i),$$

then $\beta_{k,n}(i)$ satisfies the recurrence relations

$$\beta_{k,n}(i) = s\mu\beta_{k,n-1}(i-1) - (\lambda + s\mu)\beta_{k,n-1}(i) + \lambda\beta_{k,n-1}(i+1), \quad i \in \mathbb{Z}, \beta_{k,0}(i) = i_{(k)}.$$
(35)

From (34) and (35) it follows that $\beta_{k,n}(i) = d_{k,n}(i) = \sum_{j=0}^{\infty} j_{(k)} P_{ij}^{(n)}(0), i \ge s + n - 1$, and then from (32)

$$\gamma_{k,n}(i) = \beta_{k,n}(i) + o\left(\frac{1}{\rho^{i/2}}\right).$$

Hence (i) follows from theorem 1 and (33). Taking into account that the variance of $Y_i(t)$ is $(\lambda + s\mu)t$ and with a similar calculation as we realised to deduce (31), (ii) follows. \Box

Corollary 1. Let $\rho > 1$. When $i \to \infty$

$$M_k^{(i)}(t) = E[Y_i(t)_{(k)}] + o\left(\frac{1}{\rho^{i/2}}\right).$$

4.2. *Case* $\rho = 1$

In the following two theorems, we will obtain, from the representations (27) and (18), the limit behavior of the mean and of the variance for this case.

Theorem 3. Let $\rho = 1$. When $t \to \infty$

$$m_i(t) = \sqrt{\frac{4\lambda t}{\pi}} + D + \frac{d_i}{\sqrt{t}} + O\left(\frac{1}{t\sqrt{t}}\right), \quad i \ge 0,$$

where

$$D = s - \frac{1}{2} - \frac{1}{\pi_s} \sum_{j=0}^{s-1} \pi_j, \qquad d_0 = \frac{1}{\sqrt{\lambda\pi}} \left(\frac{1}{8} - s - \sum_{l=0}^{s-2} \frac{1}{\pi_l} \sum_{j=0}^l \pi_j + \left(\frac{1}{\pi_s} \sum_{j=0}^{s-1} \pi_j \right)^2 \right)$$
(36)

and d_i for $i \ge 1$ are given by the recurrence relations

$$\mu_i d_{i-1} - (\lambda + \mu_i) d_i + \lambda d_{i+1} = \sqrt{\frac{\lambda}{\pi}}, \quad i \ge 0.$$
(37)

Proof. Let $\rho = 1$. The representation for the mean (27) in this case is

$$m_i(t) = i + \int_0^{4\lambda} Q_i(x) q_1(x) \frac{e^{-xt} - 1}{x} \psi'(x) \, \mathrm{d}x.$$

Hence, observing the value of $\psi'(x)$ in (12) we have $Q_i(x)q_1(x)\psi'(x)\sqrt{x} = f_i(x)$ for $0 < x < 4\lambda$, where

$$f_i(x) = Q_i(x)q_1(x)\frac{\sqrt{1 - x/(4\lambda)}}{\sqrt{\lambda\pi}Q(x)}$$
 and $Q(x) = \frac{\lambda\pi_s(Q_s^2(x) - Q_{s-1}(x)Q_{s+1}(x))}{x}$.

From (A.8)

$$Q(x) = Q_s^*(x)Q_s(x) - Q_{s-1}^*(x)Q_{s+1}(x).$$
(38)

Hence

$$m_{i}(t) = i + \int_{0}^{4\lambda} f_{i}(x) \frac{e^{-xt} - 1}{x\sqrt{x}} dx$$

= $i + \int_{0}^{4\lambda} \frac{f_{i}(0) - f_{i}(x)}{x\sqrt{x}} dx + \int_{0}^{4\lambda} \frac{f_{i}(x) - f_{i}(0)}{x\sqrt{x}} e^{-xt} dx$
+ $\int_{0}^{4\lambda} f_{i}(0) \frac{e^{-xt} - 1}{x\sqrt{x}} dx.$

Since $Q_s^2(x) - Q_{s-1}(x)Q_{s+1}(x)$ has no zeros on $(0, 4\lambda]$ (see [17, p. 52]) and $Q_s^*(0)Q_s(0) - Q_{s-1}^*(0)Q_{s+1}(0) = \pi_s \neq 0$ (see (A.5)), it follows that $f_i(x)$ is bounded on $[0, 4\lambda]$ and analytic in x = 0. So using the dominated convergence theorem we obtain

$$\lim_{t \to \infty} t \sqrt{t} \left(\int_0^{4\lambda} \frac{f_i(x) - f_i(0)}{x\sqrt{x}} e^{-xt} dx - \frac{f_i'(0)\sqrt{\pi}}{\sqrt{t}} \right)$$

=
$$\lim_{t \to \infty} t \left(\int_0^{4\lambda t} \frac{f_i(u/t) - f_i(0)}{u/t} \frac{e^{-u}}{\sqrt{u}} du - \int_0^\infty \frac{f_i'(0) e^{-u}}{\sqrt{u}} du \right)$$

=
$$\lim_{t \to \infty} \int_0^{4\lambda t} \frac{f_i(u/t) - f_i(0) - (u/t) f_i'(0)}{(u/t)^2} \sqrt{u} e^{-u} du + t f_i'(0) \int_{4\lambda t}^\infty \frac{e^{-u}}{\sqrt{u}} du$$

=
$$\frac{f_i''(0)\sqrt{\pi}}{2}.$$

Moreover

$$\int_{0}^{4\lambda} \frac{\mathrm{e}^{-xt} - 1}{x\sqrt{x}} \,\mathrm{d}x = \frac{1}{\sqrt{\lambda}} \left(1 - \mathrm{e}^{-4\lambda t} \right) - 2\sqrt{\pi t} + 2\sqrt{t} \int_{4\lambda t}^{\infty} \frac{\mathrm{e}^{-u}}{\sqrt{u}} \,\mathrm{d}u$$
$$= -2\sqrt{\pi t} + \frac{1}{\sqrt{\lambda}} + \mathrm{O}\left(\frac{1}{t\sqrt{t}}\right).$$

Therefore

$$m_i(t) = -2f_i(0)\sqrt{\pi t} + a_i + \frac{d_i}{\sqrt{t}} + O\left(\frac{1}{t\sqrt{t}}\right),$$

where

$$a_{i} = i + \frac{f_{i}(0)}{\sqrt{\lambda}} + \int_{0}^{4\lambda} \frac{f_{i}(0) - f_{i}(x)}{x\sqrt{x}} \, \mathrm{d}x \quad \mathrm{and} \quad d_{i} = f_{i}'(0)\sqrt{\pi}.$$
(39)

Taking $\rho = 1$ in (29) and using (A.1), we get $q_1(x) = \mu \lambda \pi_s Q_s(x)/(x - \mu)$. Then from (A.5), $q_1(0) = -\lambda \pi_s$ and $q'_1(0) = -\lambda \pi_s(1/\mu + Q'_s(0))$. Thus we easily obtain $f_i(0) = -\sqrt{\lambda}/\pi$, and with a simple computation using (38), (A.2), and (A.5), the equality given in (36) for d_0 follows.

From the recurrence relations (4) for $\{Q_n(x)\}$ it follows that

$$\mu_i f_{i-1}(x) - (\lambda + \mu_i) f_i(x) + \lambda f_{i+1}(x) = -x f_i(x), \quad i \ge 0.$$
(40)

From which we obtain that $d_i = f'_i(0)\sqrt{\pi}$ satisfies the recurrence relations (37). From the backward equations (1) we get $m'_i(0) = \lambda - \mu_i$. Then using (39), (40), and (18) we obtain

$$\mu_{i}a_{i-1} - (\lambda + \mu_{i})a_{i} + \lambda a_{i+1} = \lambda - \mu_{i} + \int_{0}^{4\lambda} \frac{f_{i}(x)}{\sqrt{x}} dx$$
$$= \lambda - \mu_{i} + \int_{0}^{4\lambda} Q_{i}(x)q_{1}(x)\psi'(x) dx = 0,$$

for $i \ge 0$. Hence $a_i = a_0, i \ge 0$. It remains to determine a_0 . From (39)

$$a_{0} = -\frac{1}{\pi} + \int_{0}^{4\lambda} \frac{-\sqrt{\lambda}/\pi - f_{0}(x)}{x\sqrt{x}} dx$$

$$= -\frac{1}{\pi} - \int_{0}^{4\lambda} \frac{f_{0}(x) + (\sqrt{\lambda}/\pi)\sqrt{1 - x/(4\lambda)} + \sqrt{\lambda}/\pi - (\sqrt{\lambda}/\pi)\sqrt{1 - x/(4\lambda)}}{x\sqrt{x}} dx$$

$$= -\frac{1}{2} - \int_{0}^{4\lambda} \left(\frac{q_{1}(x)}{\sqrt{\lambda}\pi Q(x)} + \frac{\sqrt{\lambda}}{\pi}\right) \frac{\sqrt{1 - x/(4\lambda)}}{x\sqrt{x}} dx$$

$$= -\frac{1}{2} - \int_{0}^{\infty} \frac{q_{1}(x) + \lambda Q(x)}{x} d\psi(x).$$

Using (28), (38), (A.4) and (7) we obtain

$$\frac{q_1(x) + \lambda Q(x)}{x} = -\sum_{j=0}^{s-1} Q_j^*(x) + Q_{s-1}^*(x) \frac{Q_s^*(x)}{\pi_s} - \pi_s Q_s(x) \sum_{j=0}^{s-1} \frac{Q_j^*(x)}{\pi_j}.$$

Hence, from (A.3) and (6)

$$a_0 = -\frac{1}{2} + s - \frac{1}{\pi_s} \int_0^\infty Q_{s-1}^*(x) Q_s^*(x) \, \mathrm{d}\psi(x) = s - \frac{1}{2} - \frac{1}{\pi_s} \sum_{j=0}^{s-1} \pi_j.$$

Theorem 4. Let $\rho = 1$. When $t \to \infty$

$$V_i(t) = 2\lambda \left(1 - \frac{2}{\pi}\right)t + D - D^2 - 4\sqrt{\frac{\lambda}{\pi}}d_i + b_i + O\left(\frac{1}{\sqrt{t}}\right), \quad i \ge 0,$$

where

$$b_0 = \frac{B}{\sqrt{\lambda}} + \int_0^{4\lambda} \frac{B\sqrt{x} - q_2(x)\psi'(x)}{x^2} \,\mathrm{d}x, \qquad B = \frac{2\sqrt{\lambda}}{\pi} \left(2 - s + \frac{\sum_{j=0}^{s-2} \pi_j}{\pi_s}\right)$$
(41)

and b_i for $i \ge 1$, are given by

$$\mu_i b_{i-1} - (\lambda + \mu_i) b_i + \lambda b_{i+1} = 2\lambda, \quad i \ge 0.$$

Proof. From the representation (18)

$$\frac{\mathrm{d}^2}{\mathrm{d}t^2} M_2^{(i)}(t) = \int_0^{4\lambda} Q_i(x) \,\mathrm{e}^{-xt} q_2(x) \psi'(x) \,\mathrm{d}x.$$

From (16), we have $q_2(x) = xp(x)$, where

$$p(x) = 2\lambda \left[(s-1)Q_{s-2}^*(x) + (2-s)Q_{s-1}^*(x) \right] - 2x \sum_{j=0}^{s-2} jQ_j^*(x).$$
(42)

Integrating

$$\frac{\mathrm{d}}{\mathrm{d}t}M_2^{(i)}(t) = \left(\frac{\mathrm{d}}{\mathrm{d}t}M_2^{(i)}(t)\right)_{t=0} + \int_0^{4\lambda} Q_i(x)(1 - \mathrm{e}^{-xt})p(x)\psi'(x)\,\mathrm{d}x.$$

With a similar calculation as we realised in (23), we obtain that if $N > \max\{i + 1, s\}$, then

$$\sum_{j=0}^{\infty} j_{(2)} P'_{ij}(0) = -\int_{0}^{4\lambda} Q_i(x) p(x) \psi'(x) \,\mathrm{d}x - \int_{0}^{4\lambda} Q_i(x) \frac{\Phi_{2,N}(x)}{x} \,\mathrm{d}\psi(x).$$

From (14), (A.1), (A.3) and (6), we obtain that for N large enough

$$\int_{0}^{4\lambda} Q_{i}(x) \frac{\Phi_{2,N}(x)}{x} d\psi(x) = \int_{0}^{4\lambda} Q_{i}(x) \left[Q_{N-1}^{*}(x)(xN_{(2)} - 2\lambda N) + 2\lambda(N-1)Q_{N}^{*}(x) \right] d\psi(x)$$
$$= -2\lambda.$$

Therefore

$$\frac{\mathrm{d}}{\mathrm{d}t}M_2^{(i)}(t) = 2\lambda - \int_0^{4\lambda} Q_i(x) \,\mathrm{e}^{-xt} \,p(x)\psi'(x) \,\mathrm{d}x. \tag{43}$$

Integrating again

$$M_2^{(i)}(t) = 2\lambda t + i(i-1) + \int_0^{4\lambda} g_i(x) \frac{e^{-xt} - 1}{x\sqrt{x}} dx,$$

where

$$g_i(x) = Q_i(x)p(x)\frac{\sqrt{1 - x/(4\lambda)}}{\sqrt{\lambda}\pi(Q_s^*(x)Q_s(x) - Q_{s-1}^*(x)Q_{s+1}(x))}.$$

Using the same techniques as in the proof of theorem 3 we get

$$M_2^{(i)}(t) = 2\lambda t - 2g_i(0)\sqrt{\pi t} + b_i + O\left(\frac{1}{\sqrt{t}}\right),$$
(44)

where

$$b_i = i(i-1) + \frac{g_i(0)}{\sqrt{\lambda}} + \int_0^{4\lambda} \frac{g_i(0) - g_i(x)}{x\sqrt{x}} \, \mathrm{d}x.$$

From (42) we obtain $g_i(0) = B$, where B is given in (41).

From the recurrence relations (4) for $\{Q_n\}$, the backward equations (1) and (43) we obtain

$$\mu_i b_{i-1} - (\lambda + \mu_i) b_i + \lambda b_{i+1} = \left(\frac{\mathrm{d}}{\mathrm{d}t} M_2^{(t)}(t)\right)_{t=0} + \int_0^{4\lambda} Q_i(x) p(x) \psi'(x) \,\mathrm{d}x = 2\lambda.$$

From the limit behavior of the factorial moment of second order (44) and the limit behavior of the mean given in theorem 3 we obtain the limit behavior of the variance given in the theorem. \Box

5. Examples: M/M/1 and M/M/2

Let $A = \rho - 1$. Some values of $q_k(x)$ and $h_{k,i}(t)$ in theorem 1 are:

• *M*/*M*/1

$$q_{1}(x) = -\mu, \ h_{1,i}(t) = (\lambda - \mu)t + i + \frac{1}{\rho^{i}A}, \quad \rho > 1.$$

$$q_{2}(x) = 2\mu(x + \lambda - \mu),$$

$$h_{2,i}(t) = (\lambda - \mu)^{2}t^{2} + \left(2(\lambda - \mu)i + 2\mu + 2\mu\frac{1}{\rho^{i}}\right)t$$

$$+ i(i - 1) - 2\frac{1}{A\rho^{i}}\left(i + 2 + \frac{1}{A}\right), \quad \rho > 1.$$
(45)

and

$$h_{k,i}(t) = \frac{k!\rho^k}{(1-\rho)^k}, \quad \rho < 1, \ k \ge 1.$$

• *M*/*M*/2

$$q_{1}(x) = x - \lambda - 2\mu, \ h_{1,i}(t) = (\lambda - 2\mu)t + i + \frac{\rho + 1}{\rho^{i}2A} - \delta_{i0}\frac{A}{2\rho}, \quad \rho > 1.$$

$$q_{2}(x) = (8\mu - 2\lambda)x + 2\lambda^{2} - 8\mu^{2},$$

$$h_{2,i}(t) = (\lambda - 2\mu)^{2}t^{2} + \left(4\mu + 2(\lambda - 2\mu)i + \frac{\lambda + 2\mu}{\rho^{i}} - \delta_{i0}\frac{(\lambda - 2\mu)^{2}}{\lambda}\right)t \quad (46)$$

$$+ i(i - 1) - \frac{1}{2A^{2}\rho^{i+1}}(7A^{2} + 10A + 4 + (2A^{3} + 6A^{2} + 4A)i)$$

$$-\delta_{i0}\frac{5A + 4}{2\rho^{2}}, \quad \rho > 1.$$

and

$$h_{k,i}(t) = \frac{2k!\rho^k}{(1+\rho)(1-\rho)^k}, \quad \rho < 1, \ k \ge 1.$$

5.1. Trigonometric integral representations

For a M/M/1 system with $\rho \neq 1$, theorem 1 gives the representations

$$M_k^{(i)}(t) = h_{k,i}(t) + \frac{1}{\pi} \int_{(\sqrt{\lambda} - \sqrt{\mu})^2}^{(\sqrt{\lambda} + \sqrt{\mu})^2} Q_i(x) \frac{q_k(x)}{x^{k+1}} e^{-xt} \sqrt{\rho - \rho^2 \alpha^2(x)} \, \mathrm{d}x.$$

Making the change of variable $x = \lambda + \mu - 2\sqrt{\lambda\mu}\cos\theta$ and using (10) and (11) we obtain

$$M_k^{(i)}(t) = h_{k,i}(t) + \frac{2\lambda}{\pi \rho^{i/2}} \int_0^\pi \left(\sin(i+1)\theta - \frac{\sin i\theta}{\sqrt{\rho}} \right) \frac{q_k(x)}{x^{k+1}} \sin \theta e^{-xt} \, \mathrm{d}\theta.$$

This representation for the special case of the mean (k = 1), is given in [15], and is proposed by Abate and Whitt [3] to calculate the mean numerically. For the special case k = 2 is given in [16].

For a M/M/2 system with $\rho > 1/9$ and $\rho \neq 1$, theorem 1 gives the representation

$$M_{k}^{(i)}(t) = h_{k,i}(t) + \frac{2\mu\lambda}{\pi} \int_{(\sqrt{\lambda} - \sqrt{2\mu})^{2}}^{(\sqrt{\lambda} + \sqrt{2\mu})^{2}} Q_{i}(x) \frac{q_{k}(x)}{x^{k+1}} e^{-xt} \frac{\sqrt{\rho - \rho^{2}\alpha^{2}(x)}}{\lambda^{2} - 2x\lambda - x\mu + x^{2} + 2\lambda\mu} dx.$$
(47)

Making the change of variable $x = \lambda + 2\mu - 2\sqrt{2\lambda\mu}\cos\theta$, we obtain

$$M_k^{(i)}(t) = h_{k,i}(t) + \frac{2\lambda}{\pi \rho^{i/2}} \int_0^\pi u_i \frac{q_k(x)}{x^{k+1}} e^{-xt} \,\mathrm{d}\theta, \tag{48}$$

where

$$u_{i} = \frac{\sin \theta [(w-1)\sin(i-1)\theta + (2\rho^{-1/2} - 4\cos\theta)\sin(i-2)\theta]}{1+w}, \quad i \ge 1,$$

$$u_{0} = \frac{2\sin^{2}\theta}{1+w}, \quad w = \frac{1}{\rho} - 6\frac{1}{\sqrt{\rho}}\cos\theta + 8\cos^{2}\theta.$$

If $\rho \leq 1/9$ then $\psi(x)$ has a jump in $a = (2\lambda + \mu + c)/2$, of magnitude $\Delta \psi(a) = \lambda(3c - \mu)/2ac$, where $c = \sqrt{\mu(\mu - 4\lambda)}$. Therefore if $\rho \leq 1/9$, we must add $Q_i(a)q_k(a)e^{-at}\Delta\psi(a)/a^k$ in the right side of the equalities (47) and (48).

5.2. Limit behaviour

From theorem 1, using the values given in (45) for $q_k(x)$ and $h_{k,i}(t)$, we obtain that for a M/M/1 system with $\rho > 1$, when $t \to \infty$

$$m_{i}(t) = (\lambda - \mu)t + i + \frac{1}{\rho^{i}(\rho - 1)} + o(e^{-(\sqrt{\lambda} - \sqrt{\mu})^{2}t}), \quad i \ge 0,$$
(49)

$$V_{i}(t) = (\lambda + \mu)t + \frac{1 - 4Ai - 3\rho - \rho^{-i}}{A^{2}\rho^{i}} + o(t e^{-(\sqrt{\lambda} - \sqrt{\mu})^{2}t}), \quad i \ge 0.$$
(50)

From theorems 3 and 4, using the expression of $\psi(x)$ given in (12) we deduce when $\rho = 1$ and $t \to \infty$

$$m_i(t) = \sqrt{\frac{4\lambda t}{\pi}} - \frac{1}{2} + \frac{(2i+1)^2}{8\sqrt{\pi\lambda t}} + O\left(\frac{1}{t\sqrt{t}}\right), \qquad i \ge 0, \qquad (51)$$

$$V_i(t) = 2\lambda \left(1 - \frac{2}{\pi}\right)t + i^2 + i + \frac{1}{4} - \frac{(2i+1)^2}{2\pi} + O\left(\frac{1}{\sqrt{t}}\right), \quad i \ge 0.$$
 (52)

The limit behaviour of the mean (49) and (51) can be found in [5] and the coefficients of t in the equalities (50) and (52) for the limit behaviour of the variance, can be found in [13].

From theorem 1, with the values given in (46) for $q_k(x)$ and $h_{k,i}(t)$, we obtain that for a M/M/2 system with $\rho > 1$, when $t \to \infty$

$$m_{i}(t) = (\lambda - 2\mu)t + i + \frac{\rho + 1}{2\rho^{i}(\rho - 1)} - \delta_{i0}\frac{A}{2\rho} + o\left(e^{-(\sqrt{\lambda} - \sqrt{2\mu})^{2}t}\right),$$

$$V_{i}(t) = (\lambda + 2\mu)t + v_{i} + o\left(te^{-(\sqrt{\lambda} - \sqrt{2\mu})^{2}t}\right),$$

where

$$v_i = \frac{8(1-\rho^2)i + 2\rho^2 - 14\rho + 6 - 2\rho^{-1} - (\rho+1)^2\rho^{-i}}{4A^2\rho^i} + \delta_{i0}\frac{4\mu^2 - \lambda^2 - 8\lambda\mu}{4\lambda^2}.$$

From theorems 3 and 4, using the expression of $\psi(x)$ given in (12) we obtain that if $\rho = 1$ and $t \to \infty$

$$m_{i}(t) = \sqrt{\frac{4\lambda t}{\pi}} + \frac{(2i)^{2} - 1 - 4\delta_{i0}}{8\sqrt{\lambda\pi t}} + O\left(\frac{1}{t\sqrt{t}}\right), \qquad i \ge 1,$$

$$V_{i}(t) = 2\lambda \left(1 - \frac{2}{\pi}\right)t - \frac{(2i)^{2} - 1 - 4\delta_{i0}}{2\pi} + i^{2} - \delta i0 + O\left(\frac{1}{\sqrt{t}}\right), \quad i \ge 1.$$

6. The mean

Theorem 1 with the expression (29) for $q_1(x)$, gives the following representation for the mean

$$m_{i}(t) = h_{1,i}(t) + \mu \int_{a}^{b} Q_{i}(x) \frac{s\mu Q_{s}^{*}(x) - \lambda Q_{s-1}^{*}(x)}{x(x-\mu)} e^{-xt} d\psi(x),$$

 $i \ge 0, \ t \ge 0, \ \rho \ne 1,$
(53)

where $h_{1,i}(t) = m$ if $\rho < 1$ and $h_{1,i}(t) = (\lambda - s\mu)t + \gamma_{1,0}(i)$ if $\rho > 1$.

Using (17), (28) and (26) we obtain

$$\gamma_{1,0}(i) = \begin{cases} i, & i > s - 2\\ s - 1, & i \leqslant s - 2 \end{cases} + (s\mu - \lambda) \sum_{n=0}^{s-2} \sum_{l=\max(i,n)}^{\infty} \frac{\pi_n}{\lambda \pi_l} + s\mu \sum_{l=\max(i,s-1)}^{\infty} \frac{\pi_{s-1}}{\lambda \pi_l}.$$

6.1. The mean of the number of customers in the queue and of busy servers

The expected number of customers in the system, $m_i(t)$, can be expressed as the sum of the expected number in queue, $c_i(t)$, and the expected number of busy servers, $b_i(t)$. In an ergodic M/M/s system, the expected number in queue and the expected number of busy servers of the steady-state distribution are respectively $C = p_s \rho/(1-\rho)^2$ and $B = s\rho$ (see [12]). From the Karlin and McGregor representation (5), and using (A.3) and (A.7), it is easy to obtain a representation of $b_i(t)$

$$b_{i}(t) = \sum_{j=0}^{s-1} j P_{ij}(t) + s \sum_{j=s}^{\infty} P_{ij}(t) = s - \sum_{j=0}^{s-1} \sum_{l=0}^{j} P_{il}(t)$$

$$= s - \sum_{j=0}^{s-1} \int_{0}^{\infty} Q_{i}(x) e^{-xt} Q_{j}^{*}(x) d\psi(x)$$

$$= s + \int_{0}^{\infty} Q_{i}(x) \frac{s\mu Q_{s}^{*}(x) - \lambda Q_{s-1}^{*}(x)}{x - \mu} e^{-xt} d\psi(x)$$

$$= B_{i} + \int_{a}^{b} Q_{i}(x) \frac{s\mu Q_{s}^{*}(x) - \lambda Q_{s-1}^{*}(x)}{x - \mu} e^{-xt} d\psi(x),$$

for some constant B_i . By letting $t \to \infty$, we see that $B_i = B$ if $\rho < 1$ and $B_i = s$ if $\rho > 1$. Since $c_i(t) = m_i(t) - b_i(t)$ and (53), we get

$$c_i(t) = l_i(t) + \int_a^b Q_i(x) \frac{\lambda Q_{s-1}^*(x) - s\mu Q_s^*(x)}{x} e^{-xt} d\psi(x), \quad i \ge 0, \ t \ge 0, \ \rho \ne 1,$$

where $l_i(t) = C$ if $\rho < 1$ and $l_i(t) = (\lambda - s\mu)t + \gamma_{1,0}(i) - s$ if $\rho > 1$.

6.2. Representations and bounds

Let $f_{ij}(t) = P(X(t) \le j | X(0) = i)$. From (5) and (A.3)

$$f_{ij}(t) = \sum_{l=0}^{j} P_{il}(t) = \int_{0}^{\infty} Q_{i}(x) Q_{j}^{*}(x) e^{-xt} d\psi(x).$$

For a system M/M/1 it is known (see [1, theorem 8.1] or [5, p. 178])

$$m'_i(t) = \lambda - \mu + \mu P_{i0}(t).$$

From the representation (18) and (29), the following generalization of this result is obtained for a system M/M/s

$$m'_{i}(t) = \lambda - s\mu + \mu \sum_{j=0}^{s-1} f_{ij}(t), \quad i \ge 0, \ t \ge 0.$$
 (54)

Differentiating the above expression we obtain $m''_i(t) = \mu \sum_{l=0}^{s-1} f'_{ll}(t)$. Van Doorn [17] deduced and used this equality to study the increase of the mean. Since $b_i(t) = s - \sum_{n=0}^{s-1} f_{in}(t)$, the above representation could be also written as

$$m'_i(t) = \lambda - \mu b_i(t). \tag{55}$$

Differentiating both sides of $b_i(t) = s - \int_0^\infty Q_i(x) e^{-xt} \sum_{j=0}^{s-1} Q_j^*(x) d\psi(x)$, and using (A.6) we obtain $b'_i(t) = \lambda f_{is-1}(t) - s\mu f_{is}(t) + \mu \sum_{j=0}^{s-1} f_{ij}(t)$ and then

$$c'_{i}(t) = m'_{i}(t) - b'_{i}(t) = \lambda - s\mu - \lambda f_{is-1}(t) + s\mu f_{is}(t).$$

Since $0 \leq b_i(t) \leq s$ and $m'_i(t) = \lambda - \mu b_i(t)$,

$$(\lambda - s\mu)t + i \leq m_i(t) \leq \lambda t + i, \quad t \geq 0, \ i \geq 0.$$

 $s\mu$) $t+\gamma_{1,0}(i)$] is positive. Moreover, from (30), $\lim_{t\to\infty} m_i(t) - [(\lambda - s\mu)t + \gamma_{1,0}(i)] = 0$. Therefore, if $\rho > 1$ then

$$(\lambda - s\mu)t + i \leqslant m_i(t) \leqslant (\lambda - s\mu)t + \gamma_{1,0}(i), \quad t \ge 0, \ i \ge 0.$$
(56)

So, the mean is between its asymptote and the parallel which crosses (0, i) (i.e., the mean of $Y_i(t)$). When *i* increases, the distance between them decreases, since $\gamma_{1,0} =$ $i + o(1/\rho^{1/2})$ (see (32)).

A similar bound can be obtained for the variance in the case M/M/1. As a matter of fact, we can observe in (45) that $-xq_2(x) = 2(\lambda - \mu)xq_1(x) - 2\mu x^2$, and then from (18) and (5) it follows that for every $\rho > 0$

$$\frac{d^2}{dt^2}M_2^{(i)}(t) = 2(\lambda - \mu)\frac{d}{dt}m_i(t) - 2\mu\frac{d}{dt}P_{i0}(t)$$

from where it is easily obtained

$$V'_{i}(t) = \lambda + \mu - \mu (1 + 2m_{i}(t)) P_{i0}(t), \quad i \ge 0, \ t \ge 0.$$

It follows that $((\lambda + \mu)t - V_i(t) + C)' \ge 0, \forall C \in \mathbb{R}$, and then

$$V_i(t) \leq (\lambda + \mu)t, \quad t \geq 0.$$

From (31), if $\rho > 1$ then $\lim_{t \to \infty} (\lambda + \mu)t + v_i - V_i(t) = 0$, where $v_i = 1 - 4Ai - 3\rho - 4Ai - 3Ai - 3Ai$ $\rho^{-i}/A^2\rho^i$, and thus

$$(\lambda + \mu)t + v_i \leq V_i(t) \leq (\lambda + \mu)t, \quad i \geq 0, t \geq 0.$$

So $V_i(t)$ is greater than its asymptote and less than the parallel which crosses the origin.

From (55) and the information about the sign of $m'_i(t)$ given in [17, p. 85] we have that if $\rho < 1$ then

- (i) If $\lambda \ge i\mu$ then $b_i(t) \le B$, $t \ge 0$.
- (ii) If $Q_i(a) < 0$ then $b_i(t) > B, t \ge 0$.
- (iii) If $\lambda < i\mu$ and $Q_i(a) > 0$ then $b_i(t)$ crosses once its asymptote *B*.
- 6.3. The distance of the mean to its asymptote in the $L^1(\mathbb{R}^+)$ norm

In [14], it is calculated in the ergodic case, $\rho < 1$, and when i = 0 the distance of the mean to its asymptote in the $L^1(\mathbb{R}^+)$ norm

$$\int_0^\infty \left| m - m_i(t) \right| \mathrm{d}t. \tag{57}$$

This quantity is considered as a measure of the convergence speed. In [7] it is generalized, providing a method to obtain (57) for an ergodic birth and death process. It might be interesting to calculate (57), for other values i, as a measure of the influence of the initial state i upon this convergence speed.

For the M/M/s case, if $Q_i(a) < 0$ (see [17, p. 85]) then $m_i(t) \ge m$. If i < m then $m > m_i(t)$. For these values of i, (57) could be easily calculate from the representation of the mean (53), and the formulae which are given in [10, appendix B] (to calculate integrals of the kind $\int_a^\infty Q_i(x)/x^l d\psi(x)$ when $\rho < 1$).

For instance, for a M/M/1 system with $\rho < 1$, we obtain

$$\int_0^\infty |m - m_i(t)| \, \mathrm{d}t = \left| \frac{\lambda}{(1 - \rho)^3} - \frac{\lambda i (i + 1)}{2\rho (1 - \rho)} \right|, \quad i < m \text{ or } i > \sqrt{\rho} \left(1 - \sqrt{\rho} \right)^{-1}.$$

In this case, see [17, p. 63], $Q_i(a) < 0$ when $i > \sqrt{\rho}(1 - \sqrt{\rho})^{-1}$.

In the case $\rho > 1$, the mean is always less than its asymptote (see (56)), and the distance of the mean to its asymptote in the $L^1(\mathbb{R}^+)$ norm, can be easily calculated from (53) and (26). For instance, for a M/M/1 system

$$\int_0^\infty (\lambda - \mu)t + \gamma_{1,0}(i) - m_i(t) \,\mathrm{d}t = \frac{\mu}{(\lambda - \mu)^2 \rho^i} \left(i + \frac{\rho}{\rho - 1} \right), \quad i \ge 0.$$

In particular for i = 0 is

$$\int_0^\infty (\lambda - \mu)t + \frac{1}{\rho - 1} - m_0(t) \,\mathrm{d}t = \frac{\lambda \mu}{(\lambda - \mu)^3}$$

Acknowledgements

The authors would like to express their gratitude to Prof. Dr. Erik A. van Doorn for his suggestions and remarks in order to improve the manuscript. Furthermore, we thank the

referee for his/her constructive criticism and suggestions which improved the presentation of the paper.

The work of the first author (F.M.) was supported by Direccion General de Investigación (Ministerio de Ciencia y Tecnología) of Spain under grant BFM 2000-0206-C04-01 and INTAS 2000-272.

Appendix

From the recurrence relations (7) for $\{Q_n^*(x)\}$ we can prove that $\{\pi_n^{-1}(Q_n^*(x) - Q_{n-1}^*(x))\}$ satisfy the recurrence relations (4) and then

$$\pi_n Q_n(x) = Q_n^*(x) - Q_{n-1}^*(x), \quad n \ge 0.$$
(A.1)

Similarly we can prove

$$-xQ_{n}^{*}(x) = \lambda \pi_{n} (Q_{n+1}(x) - Q_{n}(x)), \quad n \ge 0.$$
 (A.2)

Hence

$$Q_n^*(x) = \sum_{j=0}^n \pi_j Q_j(x), \qquad n \ge 0,$$
(A.3)

$$Q_n(x) = 1 - x \sum_{j=0}^{n-1} \frac{Q_j^*(x)}{\lambda \pi_j}, \quad n \ge 1.$$
 (A.4)

Then

$$Q_n(0) = 1, \qquad Q_n^*(0) = \sum_{j=0}^n \pi_j, \qquad Q_n'(0) = -\sum_{l=0}^{n-1} \frac{1}{\lambda \pi_l} \sum_{i=0}^l \pi_i, \quad n \ge 1.$$
 (A.5)

The addition in both hand sides of the recurrence relations (7) for $\{Q_n^*(x)\}$ from n = 0 to N yields

$$x\sum_{n=0}^{N}Q_{n}^{*}(x) = \mu\sum_{n=0}^{s-1}Q_{n}^{*}(x) + \lambda Q_{N}^{*}(x) - s\mu Q_{N+1}^{*}(x), \quad N \ge s-2.$$
(A.6)

Taking N = s - 1 we obtain

$$\sum_{j=0}^{s-1} Q_j^*(x) = \frac{\lambda Q_{s-1}^*(x) - s\mu Q_s^*(x)}{x - \mu}.$$
 (A.7)

From (A.2) we obtain

$$Q_{s}^{2}(x) - Q_{s-1}(x)Q_{s+1}(x) = \left[Q_{s}(x) - Q_{s+1}(x)\right]Q_{s}(x) + \left[Q_{s}(x) - Q_{s-1}(x)\right]Q_{s+1}(x)$$
$$= \frac{x}{\lambda\pi_{s}} \left(Q_{s}^{*}(x)Q_{s}(x) - Q_{s-1}^{*}(x)Q_{s+1}(x)\right).$$
(A.8)

From (A.1) we obtain

$$\sum_{n=0}^{N} n_{(k)} \pi_n Q_n(x) = \sum_{n=0}^{N} n_{(k)} (Q_n^*(x) - Q_{n-1}^*(x))$$
$$= (N+1)_{(k)} Q_N^*(x) - k \sum_{n=0}^{N} n_{(k-1)} Q_n^*(x).$$
(A.9)

On the other hand, from the recurrence relations (7) for $Q_n^*(x)$, a simple computation yields $\sum_{n=s-1}^{N} z^n Q_n^*(x) = (l_{N+1} - l_{s-1})/v$ where $l_n = \lambda z^{n+1} Q_{n-1}^*(x) - s\mu z^n Q_n^*(x)$ and $v = \lambda z^2 + (x - \lambda - s\mu)z + s\mu$. Thus, differentiating k - 1 times respect to z and taking z = 1 we have

$$\sum_{n=s-1}^{N} n_{(k-1)} Q_n^*(x) = \left(\frac{\mathrm{d}^{k-1}}{\mathrm{d}z^{k-1}} \frac{l_{N+1} - l_{s-1}}{v}\right)_{z=1} = \eta_{k,N+1} - \eta_{k,s-1}, \tag{A.10}$$

where $\eta_{k,n}$ is defined in (13). From (A.9) and (A.10) it follows

$$x^{k} \sum_{n=s-1}^{N} n_{(k)} \pi_{n} Q_{n}(x) = \Phi_{k,N+1}(x) - \Phi_{k,s-1}(x), \quad N > s - 1,$$
(A.11)

where $\Phi_{k,n}$ is defined in (14). A simple calculation from (14) gives

$$\Phi_{k,n}(x) = x^k n_{(k)} Q_{n-1}^*(x) + \sum_{l=0}^{k-1} \left(s \mu Q_n^*(x) n_{(k-1-l)} - \lambda Q_{n-1}^*(x) (n+1)_{(k-1-l)} \right) u_{k,l}(x),$$
(A.12)

where

$$u_{k,l}(x) = k_{(l+1)} \sum_{j=0}^{[l/2]} \binom{l-j}{j} (-1)^{l-j} x^{k-1-l+j} (x+\lambda-s\mu)^{l-2j} \lambda^j.$$

References

- [1] J. Abate and W. Whitt, Transient behavior of the M/M/1 queue via the Laplace transform, Appl. Probab. 20 (1988) 145–178.
- [2] J. Abate and W. Whitt, Simple spectral representations for the M/M/1 queue, Queueing Systems 3 (1988) 321–346.
- [3] J. Abate and W. Whitt, Calculating time-dependent performance measures for the M/M/1 queue, IEEE Trans. Commun. 37 (1989) 1102–1104.
- [4] T.S. Chihara, An Introduction to Orthogonal Polynomials (Gordon and Breach, New York, 1978).
- [5] J.W. Cohen, The Single Server Queue (North-Holland, Amsterdam, 1982).
- [6] B. Conolly, Lecture Notes on Queueing Systems (Wiley, New York, 1975).
- [7] P. Coolen-Schrijner and E.A. van Doorn, On the convergence to stationarity of birth-death processes, J. Appl. Probab. 38 (2001) 696–706.
- [8] A. Erdélyi, Higher Transcendental Functions, Vol. II (McGraw-Hill, New York, 1953).

- [9] S. Karlin and J.L. McGregor, The differential equations of birth and death process and the Stieltjes moment problem, Trans. Amer. Math. Soc. 85 (1957) 489–546.
- [10] S. Karlin and J.L. McGregor, The classification of birth and death processes, Trans. Amer. Math. Soc. 86 (1957) 366–400.
- [11] S. Karlin and J.L. McGregor, Many server queueing processes with Poisson input and exponential service times, Pacific J. Math. 8 (1958) 87–118.
- [12] J. Medhi, Stochastic Models in Queueing Theory (Academic Press, New York, 1991).
- [13] T.L. Saaty, Elements of Queueing Theory with Applications (Dover, New York, 1961).
- [14] W. Stadje and P.R. Parthasarathy, On the convergence to stationarity of the many-server Poisson queue, J. Appl. Probab. 36 (1999) 546–557.
- [15] L. Takács, Introduction to the Theory of Queues (Oxford Univ. Press, Oxford, 1962).
- [16] M.C.T. van de Coevering, Computing transient performance measures for the M/M/1 queue, Or Spektrum 17 (1995) 19–22.
- [17] E.A. van Doorn, *Stochastic Monotonicity and Queueing Applications of Birth–Death Processes*, Lecture Notes in Statistics, Vol. 4 (Springer, New York, 1981).